N = 0l & At & M A

20228 = 20l A LBt H 23 H =
EX: S3Hs
HH: 230z M=
el ZetollsAg 2 X (9 ® =)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
S 3l = 15,039,290 13,159, 134 1,880, 156
= 798,400
g 390,000
Jl 1,315,730
= 1,185,848
= 11,349,312
2slil=z &= 2,812,294 2,293,650 518,644
= 26,000
Dl 116,048
= 172,560
= 2,497,686
Ssld=Ag & & 1,597,131 1,293,583 303,548
= 26,000
Dl 116,048
o 99, 366
= 1,355,717
st 24 17,000 17,000 0
307 QI2t0| ™ 17,000 17,000 0
02 QI2tAMAIE E X 17,000 17,000 0
ool Mol s8x 2AHXE
2,500,000 23| 5,000
OXEs=s 4,000,000& *33] 12,000
SE - N - AFR 70,000 55,000
307 2Iz2t0| & 70,000 55,000
02 Q12+ At 70,000 55,000
ostuw & 2,000,000& #2204 A~ 4,000
Ogn 8 5,000,000 *2JH 2 10,000
Oosn 8
3,000,000 *2H & 6,000
ODNEAL2LX 30,000,000& =10 A 30,000
O0la2 5,000,000 * 104 & 5,000
Ozoz X
1,000,000 * 1504 & 15,000
Zsto=gs N 500,410 494,915
201 et 230,000 230,000
03 A2 HH| 230,000 230,000
O2s3 J18&2dA 8,000,000 103 80,000
OXotNd EZ2EMHAEIY 150,000,000 *13] 150,000
202 044 9,360 9,360
01 2L Hl 9,360 9,360
O30z ALEX (B
130,000& »6H x12& 9,360
307 gizto| A 249,950 244 455
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M 2oos ds
& So=sAE & XH (&)
SA - BB B () - MM - BES Ol &t o San HmEET
02 It M AHE L 209,700 205,700 4,000
odetos gsXd 27,200
— Zotoll = Xl &2t 3,000,000& =13l 3,000
— &otol = Ml 13,200,000& * 13| 13,200
—dlotolselol e 6,000,000& x13l 6,000
— == 5,000,000& x13] 5,000
OZCH AU A BHEE Al 5,000,000& =13l 5,000
OZIoH0 & A ZCH3 5,000,000& 13 5,000
OREM &E= AIZAIQ &2 OHOl &2l Bl OF
2l =3 ALsUE 25,000,000& x13] 25,000
Od=xsM==Hd XN 10,000, 000& 12/ 10,000
O&tNAS3l 3,500,000& »23| 7,000
O&et pHola=E 29 12,000,000 =14l 12,000
O&oh Helol & 8F 20,000,000 14 20,000
O&let HYelAHAER 29
10,000, 000& * 14! 10,000
Ot EHZ XA S 3,000,000& x33| 9,000
O2AGA ZEY 3,000,000& =13l 3,000
OSY Us=s< &0tE @A 5,000,000 *13] 5,000
OX0tit=e E3tes KNSAY
3,125,000 =8I EH Xl 25,000
OFa4E FA 2201 2,500,000& »23| 5,000
OROPJI= DIEHER S 29
2,500,000& »23| 5,000
OHEAIIEAE XA 5,000,000& x13] 5,000
Ol X=22aH KN S 4,500,000& *13] 4,500
O=2083l AstA 7,000,000& x13] 7,000
02022 &otE &t 30E A &2 6,000,000 * 14 6,000
O ot 8 2H235) 4,000,000& =13 4,000
OFXHIUI3Y MEHAM XA
5,000,000& x13l 5,000
OStHN2 nxA 5,000,000& x13] 5,000
03 AHHEE2IHIES 30,250 28,755 1,495
O(Aher=20E &etXsl 22
30,250,000 * 104 2 30,250
04 QIZFHALAIR B & 10,000 10,000 0
OGS0l ALK& 10,000, 000& *13] 10,000
308 XX EHSOIA 11,100 11,100 0
07 IXNHMAR S = 11,100 11,100 0
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< 10,000
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03 AAHHEI2IHEX 75,510 72,150 3,360
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Il 116,048
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[a 31,046
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OSESAMEE2 2X0d 2y 18,592
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— w S| 2,000& x1H 212 »8& 336
— =4l 4,000 x 18«21«82 672
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2N
X ZH -
L= B

el

= — = 4 &
SH BB S (3H) - NRAY - BAS of 4 o4 il HI RS2
207 SO0 20,000 0 20,000
01 A=Al 20,000 0 20,000
OFSHad= 252 HE JI=2H8 =8 &
Begd g289 20,000,000& » 14| 20,000
TEMHE= 4ot 2E 3,538 3,000 538
101 124 H] 1,018 0 1,018
04 JIZAtNZ22XNSE* 1,018 0 1,018
OF=zMAHA=ES 1,018
—Jl2s (23,912& /100 )*2,069m *23] 990
—1E, MHESE 990,000& +2.78% 28
201 2er= 2,520 3,000 A 480
01 At 2t 2l Hl 960 960 0
OFSN=dg= 4t 299 80,0002 122 960
02 3324t 1,560 2,040 A 480
OFREN=HE=s 4 332 1,560
—&Jes 90,000& 122 1,080
—=Ee=s 40,000 x12& 480
HSs0l EZ HS L =it 10,000 10,000 0
= 3,000
[Ea 7,000
307 212t0l & 10,000 10,000 0
S 3,000
[a 7,000
02 QI BAANHEE 10,000 10,000 0
ONE=S0l HEXNET AN s XJAY
10,000,000& * 174 2 10,000
< 3,000
T 7,000
HE230=S5a NIAAML 148,819 150,200 1,381
S 36,480
[Ea 112,339
307 212t0l & 148,819 150,200 A 1,381
£ 36,480
[a 112,339
02 B AANHEE 148,819 150,200 1,381
OMERstesss XA (ZH FIt 44,50
) 148,819,000& * 174 2 148,819
< 36,480
[a 112,339
S3l=AE KRX2e 39,800 40,400 2600
201 2Bt2 Sl 31,400 31,400 0
01 At 221 1,400 1,400 0
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X ZH -
L= B

el

A= ot
s &=
fl=Ate & X

o=

HO MO Mo
tol toi ton

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OZZZse Jg Aosdsl AA+g
70,000 x5 *4 3] 1,400
02 2224 4| 30,000 30,000 0
O230l=AEd SAES 5,000,000 64 & 30,000
401 Al HI L £ 0HHI 8,400 9,000 A 600
01 Al& B 8,400 9,000 A 600
OHM3BAIES ™ EA
1,400, 000& *3H A %23 8,400
SENNRASS &2 65,000 55,000 10,000
= 26,000
& 11,700
= 27,300
307 212t01 & 65,000 55,000 10,000
= 26,000
& 11,700
= 27,300
02 AI2tAAMAIE E =X 65,000 55,000 10,000
OXoSENUHAMN HHRes 288X 2d4
65,000,000 =100 Al 65,000
= 26,000
= 11,700
= 27,300
St 2SN 2H9IHA 18,200 18,125 75
& 7,280
= 10,920
307 giztol A 18,200 18,125 75
& 7,280
= 10,920
02 Q2B AMAIE E =X 18,200 18,125 75
Ogn 2esn 2913 9,100,000 *2JH 2 18,200
= 7,280
= 10,920
Ml asiAIEHl XI& 20,000 20,000 0
= 10,000
= 10,000
307 QI2t0| ™ 20,000 20,000 0
= 10,000
= 10,000
02 DIZtBAAIE E X 20,000 20,000 0
OHNdast AFSEH K& 10,000,000 *2JH A~ 20,000
& 10,000
= 10,000
A2 11 =22 850 A3 12,000 12,000 0
& 4,800
= 7,200




fAM: 2=
M 20z s
tel: EstisAg & X (cho &)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
301 LEHZ 12,000 12,000 0
< 4,800
s 7,200
12JEEd=S 12,000 12,000 0
OtNZ 11 d=s2 dsstn N8 29
12,000,000& *1JH £ 12,000
< 4,800
s 7,200
Olz3sw g2 &l 7,000 0 7,000
< 2,800
s 4,200
101 @14 Hl 5,000 0 5,000
< 2,000
s 3,000
04 JIZHHZ2XREES 5,000 0 5,000
OO0St2 =adl2 FHl HM==Y
2,500,000& »23| 5,000
< 2,000
s 3,000
401 Al HI K 201 I 2,000 0 2,000
< 800
s 1,200
01 A& HI 2,000 0 2,000
OOtSC2 =dllZ2 HHIAY 2,000,000 *14) 2,000
< 800
[ia 1,200
EoFMBE BSIH 23,000 13,000 10,000
307 glz2+0ol & 13,000 13,000 0
02 QIZtE M AHEE 13,000 13,000 0
OOLOl AHALHI = & 3,500,000& =23l 7,000
OSXNEHI ==2462 =2H
3,000,000& =13l 3,000
OHUH =& 3,000,000& =13l 3,000
401 A& HIZ 201 I 10,000 0 10,000
01 A& HI 10,000 0 10,000
ORYT QU2 o8 24
10,000, 000& 14! 10,000
2320z (SRLE)Z2NE 29I 5,210 0 5,210
201 £B-2d| 5,210 0 5,210
01 At 22l 3,210 0 3,210
O230=(2st=g) Z2ME 2Y 3,210
- 3302 (2srY) ZI2NE AF g
1,000, 000& 14! 1,000




fAM: 2=
M 20z s
& So=sAE & XH (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
— 330l A3 (HEY &) A 29
1,000, 000& *23| 2,000
— 3301 XS (MY L) MA HIt H4F
AE2 =< 70,0003 x3H *13 210
02 =224l 2,000 0 2,000
O230&(2s=E)Z=22E 29 2,000
—330I=ZS(XQHOLS0/0tD], MYl &
E90|9/38) RANE= 2,000,000& 2,000
SEFHUHN=EE 660,327 431,551 228,776
HEEsH2 29 343,436 124,600 218,836
307 glz2+ol & 85,966 84,600 1,366
05 RIZHRI &3 85,966 84,600 1,366
OHESHH+T A 29
21,491,500& 4= | 85,966
401 A& HIZ 201 I 225,773 40,000 185,773
01 A& HI 224,500 40,000 184,500
OXs=Estd2 HXA &3
14,000,000 =104 2 14,000
OFSEsELD U2Y HE &X
21,770,000& »1&H 21,770
ONdS2atd 2 AZIA 1,100,000 »160m 176,000
OFEZaE2 AIEMNE AAIL
190,000, 000& *6. 7% 12,730
03 Al S THHI 1,273 0 1,273
OdsEatd=2t A&
190,000, 000& *0.67% 1,273
405 TtabF S| 31,697 0 31,697
01 AL EFHSHI 31,697 0 31,697
OESEstd+=2 Se4Hl 201 £X
26,500,000 1Ml E 26,500
OFS=2s @+ AR )7
5,197,000 » 14! 5,197
etEstold 29 267,891 306, 391 A 38,500
206 M= Hl 3,000 3,000 0
01 M2 4l 3,000 3,000 0
OLSHTHY 42ES 7
3,000,000 » 14l 3,000
307 glz2tol & 264,891 269,491 24,600
05 RIZtE = 264,891 269,491 A 4,600
O=2z2d 98¢ 29 264,891,000& * 100 £ 264,891
RIS Y 23 49,000 560 48,440
201 Let2d] 9,000 560 8,440




SN 2MSD
M 20z s
& FEZSU=sEE (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
03 A2 Z Hl 9,000 0 9,000
O&AIZ2t D& HA 3,000,000& 23] 6,000
OMg 228 29 500,000& x63l 3,000
401 Al HI K 201 I 40,000 0 40,000
01 A& HI 40,000 0 40,000
OFXHIUSY A& HH 40,000
—SHSHOE XNSHESA
40,000,000& =14 40,000
et |4 128,640 128,640 0
—ggad 82,740 82,740 0
201 Ler24E] 580 580 0
01 At 2t 2l 580 580 0
Ozggadt 2d2ds =4
70,0003 x4H *13 280
Ollot: 28t & =8 300,000& =13 300
301 LA F 82,160 82,160 0
o=t - 2sRSENS 82,160 82,160 0
Ozggat 24 82,160
—X& =< 500,000 x1H <123 6,000
—g==I =g 230,000& x1H 128 2,760
—HRE =g 200,000 x1H «12& 2,400
—HE=d 80,0003 x40 x12& 38,400
— ZHAY| 5,000& <40 42| «12& 9,600
—ZEEEY FIIH=3 15,000,000& =13l 15,000
—ZEHEgEY A0l 24
2,500,000& 23] 5,000
—d=gEZHUE =& 3,000,000& =13l 3,000
EESR=A= 45,900 45,900 0
201 LBt | 420 420 0
01 At 22l 420 420 0
OSHREH 2R =¥
70,0003 x6& * 12 420
301 LtEd = 45,480 45,480 0
o=t - 2SRES243 45,480 45,480 0
OsxREH 2 45,480
—NeX =g 500,000 x1E «12& 6,000
—HRE =g 200,000 x1H «12& 2,400
—H(RE) ¢ 80,0003 30 x128 28,800
— ZHAH| 5,000 «32H 42| «12& 7,680
—3do=s MNEg ¢ A (237 ) 7Y
300,000& »23| 600




2N
X ZH -
L= B

el

10

23t =
Stz 8

THE X

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
S A2 XS 344,290 370,950 N 26,660
== 73,194
= 271,096
N2 2 294,340 280,450 13,890
o= 73,194
= 221,146
201 gBt24 | 9,000 7,000 2,000
01 AP 2t 2| H| 2,000 0 2,000
OX2CANS 2L H2U5 IR
500,000 *43| 2,000
02 24| 7,000 7,000 0
OX2CAMS NS 22AAE SXES
1,750,000 x4 | 7,000
301 et M= 1,200 1,200 0
09 HAIAHI X & 2 1,200 1,200 0
OX2AS 2HE 100,000& ~12& 1,200
307 2iz2to| A 284,140 272,250 11,890
& 73,194
= 210,946
02 QIZIAAAIE E X 188,500 181,150 7,350
o242 210 K& 1,000,000& *6 4 &~ 6,000
o= 1,800
= 4,200
QX2 HAH 29 X (Z2HI=IF 12,7008 )
36,500,000 *x504 &~ 182,500
& 50,940
= 131,560
05 QIZ2tR EF 2 95,640 91,100 4,540
OFEZE 2T Az 2 XK (2= 16,500
SECD] 50,460,000 * 104 & 50,460
= 10,188
= 40,272
ORARSEND SYX A (FHIFIH0,9608 &
) 45,180,000 * 104 & 45,180
= 10,266
= 34,914
22 A HE 49,950 50,000 AB0
405 XHoHFE S HI 49,950 0 49,950
02 TAFH| 49,950 0 49,950
O& Xz ¢ 27 ,000& *1,850& 49,950
LIokDL 2 et = 2t 81,906 68,926 12,980
Jobtfet= 2 2 22 81,906 68,926 12,980
201 et d| 68,406 66,926 1,480
01 AP 22| H| 37,446 32,566 4,880
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A2
g 2
=

2 S 4
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
| | | ORIEII 500,000 * 1 CH 500
=t Y dAg S 2 22 3,053,160 1,717,091 1,336,069
= 747,400
< 727,040
[ 1,578,720
3 22l 2,923,818 1,516,134 1,407,684
= 747,400
< 725,930
e 1,450,488
SERsR A FHI 494,694 484,334 10,360
101 @124 dl 6,242 6,230 12
04 JIZtHZ2XREE+ 6,242 6,230 12
O&=MAHE 6,242
=Dl (23,9122 /100m )*12,700 M 23] 6,074
—1NE, & EEE 6,074,000 x2.75% 168
201 Let2d] 48,012 32,984 15,028
01 At 22l 8l 9,980 10,984 A 1,004
O2sM SHI(SH) 8,000% 59U x128 4,320
OHEZsRL MoARAAS 3lo+E
70,0003 x8H + 13| 560
OHEZSIRL R2FA X2
100, 000 *501 & 3 1,500
OSAZsEd 23N 98 HAE U2
120,000 »3H x53| 1,800
O23MAE & &8 UEF 200,000 x4H 13| 800
O=2MAE dFE B & HH
50,000& x202 *13] 1,000
02 =224l 38,032 12,000 26,032
O=2x=2stM HMdEZH ===2  800,000& 12| 800
O=SXZ23M MHZeAAE &S
86,000& 123 1,032
OJIOtEstA AZEZ+=823a A3l
10,000, 000& * 14 10,000
OtEEg B8= 600,000& »2CH 1,200
O=%NZsa NLFRE2s It
20,000,000 =14l 20,000
O=dHZsad NLFRE2As Al
5,000,000 » 14l 5,000
202 O4dl 8,640 3,120 5,520
01 = LH o4 1l 8,640 3,120 5,520
O23tM eIt A SRl =0l
20,0003 x2H «53| x12& 2,400
O2M dRFX(SH) 130,000 x4 x128 6,240
207 A RO H| 15,000 62,000 A 47,000
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X 2o & dAgE2 2e
thel: 23 22l (SH9: &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 2284 15,000 62,000 A47,000
Og2E A= XNE sS=d 184
15,000, 000& 14! 15,000
401 A& HIZ 201 I 416,800 380,000 36,800
01 A& HI 416,800 377,210 39,590
O&let el EXURX A2 EA
15,000, 000& 14! 15,000
OEYan Hegd I H=E 2LHE
3,000,000& »23| 6,000
O&lotetn Hegd A H=E SULHE
3,000,000& »23| 6,000
OEZsts 4 I 5,000,000 «4J4 & 20,000
OstE"d ZHISA 349,800,000 =14 349,800
OSEZ3tR A QHLHE FHH|
4,000,000 *5H 2 20,000
HSAE LTHALAE SXNES 56,000 51,600 4,400
= 28,000
< 14,000
[ia 14,000
201 Let24d] 56,000 51,600 4,400
= 28,000
< 14,000
[ia 14,000
02 =24l 56,000 51,600 4,400
OESAE ETHAIAE KRAEF=ALY
56,000,000& =14 56,000
= 28,000
< 14,000
s 14,000
23 THEHOHE 2| ALY 130,000 160,000 230,000
= 91,000
< 11,700
s 27,300
401 AIEHI L 201 130,000 160,000 A 30,000
= 91,000
< 11,700
[ia 27,300
01 A& HI 130,000 160,000 230,000
OO =642 UL TAIE 2SFAS ()
130,000, 000 * 14 130,000
= 91,000
< 11,700
s 27,300
FIXNE 23 L SE2M E-FE(FHIE= 22,000 22,000 0
83)
= 15,400
< 3,300
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50,000, 000& » 14|
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30,000
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fAM: 2=

Hu: 2o L AAHSH e

el 23 22l CEERED)

x 5 - 4
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
o 25,000
OXEA 25 EEXMelAY 20,000,000 * 14 20,000

< 10,000
s 10,000

OJgel EMEUR ESAtY

6,000,000 * 14 6,000

< 3,000

[ia 3,000

OSXNEHX =HZHIALY 40,000,000 » 14 40,000
& 20,000

= 20,000

OS2 M MHEXAE 2=

30,000, 0002 *14] 30,000
< 15,000
2 15,000
03 Al = Ch bl 3,800 4,340 A540
O2Fel 254 2statl HX L F# I
Ares 180,000, 000! * 1% 1,800
< 900
2 900
OO0l &HEE ZBIFHIAIY 200,000,000 *1% 2,000
= 1,000
2 1,000
225 X2 72,624 75,200 ~2,576
= 19,680
2 52,944
201 L2 | 3,424 4,000 A576
01 AL 22l 2,424 3,000 A576
OMAZREELD ARSE 7
50,0002 * 122 1,800
OMAEREERD F4) AUE
52,0009! 122 624
02 B2l 1,000 1,000 0
OAZHEERSD SN2t
1,000,0002 *14] 1,000
301 YPrB A 49,200 49,200 0
< 19,680
2 29,520
12 J|E2 & 2 49,200 49,200 0
ORHSE M ALY M+ S|
1,000,000% * 122 12,000
= 4,800
2 7,200
ORHSSM WAL HLZa3
200,0002! 122 2,400
= 960
2 1,440
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1,000
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1,440

M H

2 500, OOO°J*1 = 2,500
1,000
1,500
Otz s M=&=Hl 1,000,000 *12& 12,000
4,800
7,200
OdetsEH =2 SIH A 3,400,000 =14 3,400
1,360
2,040

EUNE EUNLY

UL

401 AIEHI L 2CHYI 20,000 22,000 2,000

01 A& HI 20,000 22,000 2,000

OMAIEHE S22 AIEIHE S A
20,000,000& » 14| 20,000

4

_,_
a

SU2sAE XE 580,000 0 580,000
200,000
113,000
267,000

MW

402 RI2HX=01 M 580,000 0 580,000
200,000
113,000
267,000

MW

02 DIZETH2 AL B Z (01 & TH &) 580,000 0 580,000
Ol4t HESBIMBTAIZ A8 B (17)

644,444,000 *90% 580,000
200,000
113,000
267,000

A

2ot o2l 2sHAY 120,000 0 120,000
84,000
10,800
25,200

HH A

401 AIEHIZ 2 I 120,000 0 120,000
84,000
10,800
25,200

HH A
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Mo H

HEIJH0FAL =2 A & HHIALS 100,000 0 100,000

50,000
50,000
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401 AIEHIZ 2 I 100,000 0 100,000

50,000
50,000

EUNL

01 A& HI 99,100 0 99, 100

Olgel Mssd €=M
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252,000
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IZ23 M & SE2SM E>FH (T =42 80,000 0 80,000
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56,000
12,000

12,000

MW

01 A& HI 80,000 0 80,000




fAM: 2=
X 2o & dAgE2 2e
& 23 2el (=& J)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OX 2d= ZLAEZANES
80,000,000 =14 80,000
= 56,000
< 12,000
i 12,000
HE2AA HEE HHESssd Z2HE KA 200,000 0 200,000
< 100,000
s 100,000
401 A& HI R 201 I 200,000 0 200,000
< 100,000
s 100,000
01 A& HI 198,200 0 198,200
OEDIaY 2= A 200,000,000& *99. 1% 198,200
< 99,100
[ia 99,100
03 Al S THHI 1,800 0 1,800
Ogilstyd =X At 200,000,000& *0.9% 1,800
= 900
s 900
SXNE2SM SAHAIE(QH) ML ALY 50,000 0 50,000
< 25,000
[ia 25,000
401 Al HI K 201 I 50,000 0 50,000
< 25,000
s 25,000
01 A& HI 50,000 0 50,000
OZXNHISM SaAHAIE(2) HAL
50,000,000& =14 50,000
< 25,000
s 25,000
Lo ALEL = 2t 129,342 200,957 AT1,615
< 1,110
[ia 128,232
sSEdn BE2e 10,000 31,342 A21,342
201 Let24dy| 5,000 6,000 A 1,000
01 AP 2teltl 5,000 6,000 A 1,000
OR2E2E 2 2283 72 5,000,000& 14 5,000
405 XHoHF S HI 5,000 5,000 0
01 AL EZFH S 5,000 5,000 0
ogtgz R27¢ 5,000,000& 14! 5,000
NZ2EAE R AR 1,000 51,000 A 50,000
405 RHoHF S HI 1,000 1,000 0
02 = A=l 1,000 1,000 0
OEAM=e &£ 0V0 2¢& 1,000, 000& 14 1,000
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EX: S3Hs
HH: 23 L dAAEES2 2
CHel: Zoto Al 2T CER-ED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OF&D A=E2 4,000,000 « 1Al 4,000
OZJ/&8H)| A& A28 2¢
130,000 =6 CH 780
OFAIZY R 1,000, 000& = 14! 1,000
OZXHEEHI(HZE, =58 5) 1,000, 000& 14! 1,000
02 B232ZH| 28,092 30,092 A 2,000
Ofdesxdla 36,0002 x12& 432
Qa2 2 30,000 x12& 360
OFSPIRTE=: 1,850,000& x12& 22,200
OQHUNSRZ2 25,000 x12& 300
OssEEg=2 (0N 2 A¥RE)
500,000 =14l 500
oEgs=2 700,000 =14l 700
Ost=et=22& 213 A3Y| 300, 000& x 14! 300
ONsEsHZ20=2823 Al
300, 000& x 14! 300
Ottt |SX 24| 3,000,000 1Al 3,000
405 KHoHFE S HI 1,250 0 1,250
01 A E B F S| 1,250 0 1,250
OzME 2 250,000 34 750
ONI 8XE 500,000 =14 500
HAHsAS 7,485,393 7,791,502 A 306, 109
= 25,000
g 390,000
J| 1,169,682
& 64,248
= 5,836,463
225 M= A 2,248,370 2,015,131 233,239
= 25,000
J| 169,682
= 28,248
= 2,025,440
MU XN ALY 35,252 27,488 7,764
201 LBt Y| 30,572 24,368 6,204
01 AP 22| d| 30,572 24,368 6,204
O&XI&Ea& I M2 5,000 *1,400 7,000
OMEXNY SHH (ENH)
8,000 x3H x92 x12& 2,592
O&=2U3 olsA stE4a 20
2,000,000& *10&] 20,000
O&XEd AAFTNAJAG HAEH
70,000 x7&H «23] 980
202 044l 4,680 3,120 1,560
01 2L Y| 4,680 3,120 1,560




AN 23HSD
HH: HAFIAH
Eel: 2EE MM (&)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ON=Nd 920 (5%)
130,000& »3H «12& 4,680
H=sz X 467,011 404,510 62,501
307 gl2tol & 467,011 404,510 62,501
02 IZHE M AHE L 57,200 46,200 11,000
OEAIZ ALEZHIXI & 26,200,000 » 14! 26,200
O&=Ua KX =XXH As
3,000,000 » 14l 3,000
Osd¥H=ss 483 2,000,000 1115 22,000
O4x=<ds 43 XA
6,000,000& x 14! 6,000
03 QIZtHHHNHE2HHEX 403,811 352,310 51,501
OrtZH =3 AR 2 & 22
403,811,000 =10 2 403,811
04 DIZHHALALSE E X 6,000 6,000 0
OderzA=4 XA 6,000,000 14! 6,000
HOIE=ZE 43t X& 39,400 40,000 A 600
307 glz2tol & 39,400 40,000 A 600
02 M AHE X 39,400 40,000 A 600
ONMoIEE *+28 #X0A
1,500, 000& *13] 1,500
OAOIEE NEA & T A=
1,500, 000& *13] 1,500
ONMoIEEE HeHl X 600,000 *4H £ 2,400
OJNoles gdst 234
200,000& 1700 22 x108 34,000
70t ¢ 344 H=g28s N 20,000 25,000 A5,000
307 21201 A 20,000 25,000 A5,000
02 IZtE M AMHEE 20,000 25,000 A5,000
Oflgtz2 =23 US S4X3
10,000, 000& 14! 10,000
OFaYd 2302l N3AEY
10,000, 000& 14! 10,000
Motsattl 225 &3 0tetE a3l 40,000 40,000 0
307 glz2tol & 40,000 40,000 0
04 QIZFHALAIH E = 40,000 40,000 0
Oflot=z 4t 283 A3 OtetEMS
40,000,000& =13 40,000
Jots 4t M=2EUEB R 50,000 65,000 A 15,000
307 glz2tol & 50,000 65,000 A 15,000
04 DIZHHALALSE E X 50,000 65,000 A 15,000




SN 2HHSD
B HEHE A
Sl BBE HSHA EERED
SA-3H-S(3AH) - MRAS - BES Off &t 24 %Eﬁ Hns2
OUt=ath d=2Eth7 s
50,000, 0002 * 13| 50,000
TObS A MZHHSBIE S 30,000 30,000 0
307 2120l & 30,000 30,000 0
04 QIZFEAFAL! & T 30,000 30,000 0
OTQHS A M=) SOIE )3
30,000, 0002 *13] 30,000
oS Al MEMABIHS 23,000 23,000 0
307 21201 & 23,000 23,000 0
04 QIZFE A ALY & T 23,000 23,000 0
OotE Al H2NABZHS
23,000, 0002 *13] 23,000
ROHDHOI AHHH F R AILIOIAH b 7 CH Sl 30,000 30,000 0
307 212+0I & 30,000 30,000 0
04 QIHEA AL BT 30,000 30,000 0
OFQIOHOI A &2 AILIOIAH b 7 CH 3l
30,000,0002! * 13| 30,000
OOl &t BRSO3 30,000 30,000 0
307 212+0| & 30,000 30,000 0
04 QIS AN BT 30,000 30,000 0
OOHOI A2 MZEACHE 30,000,0002 + 13l 30,000
T OHOHOI AHHY ® = HHS CH 3 25,000 25,000 0
307 21201 & 25,000 25,000 0
04 QIFE A AL BT 25,000 25,000 0
OFQHOI0I &Y &2 U S TH3]
25,000,0002! * 13| 25,000
s2c zong 80,000 0 80,000
307 212+0I & 80,000 0 80,000
04 QI AN BT 80,000 0 80,000
02022 €25 F D 80,000, 000! *13] 80,000
TOIZ A MIHHALGIB IS 15,000 15,000 0
307 21201 & 15,000 15,000 0
04 QIZEE AR ALY & T 5,000 15,000 0
ONSAH ¥2HHALIBIHS
15,000,0002 13l 15,000
Het2=8s SHHsE/2E03 30,000 0 30,000
307 212+0I & 30,000 0 30,000
04 QIHEA AL T 30,000 0 30,000
020221 48t 2S5 SSHE/20S
30,000,0002! * 13| 30,000




fAM: 2=
Hu: MRS
ol BB RS HA (el:de)
SA - ZE-B(EN) - NRAY - B S il &t o il RS2
Jotsdtl 8= s3Q HUAWUE 5,000 5,000 0
307 gl2tol & 5,000 5,000 0
04 DI2ZHHALALSE E X 5,000 5,000 0
Ofets 4t =552 HLUACMS
5,000,000& =13l 5,000
SYYFH JLEF03 5,000 5,000 0
307 21201 A 5,000 5,000 0
04 DIZHHALALSE E X 5,000 5,000 0
O=sgdg=4 gd =203 5,000,000& 13| 5,000
RAUE - P4 374 €203 5,000 0 5,000
307 gl2tol & 5,000 0 5,000
04 DIZHHALALSE E X 5,000 0 5,000
OR&ZE -4 3728 303l
5,000,000& =13l 5,000
det=E 0l HUACE 5,000 5,000 0
307 21201 A 5,000 5,000 0
04 DIZHHALALSE E X 5,000 5,000 0
Odet=& ol=HUAUS 5,000,000& x13] 5,000
=0lod M3 139,000 95,000 44,000
307 glz2tol & 139,000 95,000 44,000
04 DIZHHALALSE E X 139,000 95,000 44,000
O=z2od Msial 139,000, 0002 14! 139,000
otz S=SE U3 42,500 62,500 220,000
307 glz2tol & 42,500 62,500 220,000
04 QIZFHALAIH B = 42,500 62,500 220,000
Olot=Zt S2EUE 42,500,000& * 14| 42,500
Aotz M= & 3l 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 QIZFHALAIH B = 20,000 20,000 0
020223 M=s2HI ESEUHS
20,000,000& x13] 20,000
ot 2 HFx FLAHESHS 3,000 3,000 0
307 glz2+ol & 3,000 3,000 0
04 QIZFHALAIH E = 3,000 3,000 0
Odlet 2 &= IHNESHE
3,000,000& x13] 3,000
Aotz AHOIESHESEIIUS 3,000 3,000 0
307 glz2tol & 3,000 3,000 0




EX: S3Hs
Mo MTH S
ol AEE M A
5 - 4
SN EHD B (3H) - MEAY - BAS ol &k o8 %@i
04 SIZ2ISHAAIH E & 3,000 3,000
OXotZ2 HOIEESAHE S ADIIHE
3,000,000 *13] 3,000
HOIE=S AlZ2t N EAHI| 1,500 1,500
307 2Iz2to| A 1,500 1,500
04 SIZ2HSHAAISH E & 1,500 1,500
OHOIEE AT JENFEAHD
1,500,000& 13| 1,500
Motz ZojelstotsS M= 3al 25,000 25,000
307 212t0| ™ 25,000 25,000
04 BIZHH AT AL 2 X 25,000 25,000
O&iotz ZofelstotsS M3
25,000,000& 13| 25,000
Kot @ Arglolor2el] thal 25,000 25,000
307 2I2t0| ™ 25,000 25,000
02 QI2tAAMAIE E =X 25,000 25,000
02022 Aot Atzlelor2el
25,000,000 x13l 25,000
HEUa =& XSAY 26,000 26,000
307 giztol A 26,000 26,000
02 QI2tAAMAIE E =X 26,000 26,000
Od= 2 THs =dXNISAS
26,000,000 x 1Al 26,000
HdetEE8 MsU3 230,000 230,000
307 2iz2tol A 230,000 230,000
04 OIZ2tSHAFALS B = 230,000 230,000
Odet=EZCHsUH 3 230,000,000 13| 230,000
N=EAX0ItEUS & 6,000 6,000
307 QI2t0| ™ 6,000 6,000
04 CIZ2tSHALALS B X 6,000 6,000
ONd=dXOIctEUS &N 6,000,000 *13] 6,000
M2 HHE24a MENSU S 15,000 15,000
307 212t0| & 15,000 15,000
04 CIZ2tSHALALS B X 15,000 15,000
Odet=ET M ENsUs &I
15,000,000& *13] 15,000
ATXOIAE 30,000 30,000
307 QI2t0| ™ 30,000 30,000
02 QI2tAAMAIE E =X 30,000 30,000




AN 23HSD
Mo MTH S
Chel: KESE WS A (&)
SA - BB B () - MM - BES Ol &t o San HmEET
O&Xzdgd | 30,000,000& =14 30,000
T OIZ D el A 20,000 20,000 0
307 glz2+ol & 20,000 20,000 0
02 QIZtE M AHE X 20,000 20,000 0
02022 TZBIZ D& A} 20,000,000& =14 20,000
MEHSZENI ALY 11,550 11,550 0
< 3,465
[ia 8,085
307 21201 A 11,550 11,550 0
< 3,465
s 8,085
02 B AAFER 11,550 11,550 0
OMENSZENEN 2IAY
11,550,000 =100 Ab & 11,550
< 3,465
[ia 8,085
MEHINY 2IAY(EX) 10,074 10,074 0
< 3,022
s 7,052
307 21201 A 10,074 10,074 0
< 3,022
s 7,052
02 LAFAAFEX 10,074 10,074 0
OMdENSsSNY 2IAY
10,074,000 =100 At & 10,074
< 3,022
[ia 7,052
MEHSE S50 0(EX) 42,516 42,516 0
< 10,963
[ia 31,553
307 21201 A 42,516 42,516 0
< 10,963
e 31,553
02 QB AAFEX 42,516 42,516 0
OMexs szl 2IAY
42,516,000 14 At & 42,516
< 10,963
s 31,553
FAES2WA 2YAMG(BEX) 10,140 10, 140 0
= 3,020
[ 7,120
307 glz2+ol & 10,140 10, 140 0
< 3,020
e 7,120
02 HAFHAANHEEE 10,140 10, 140 0




AN 23HSD
HH: HAFIAH
el REE HSHA (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OfaAd=E=70s 2HAY
10, 140,000& * 100 Ab 10,140
= 3,020
s 7,120
AXLIUHMOISHXSH 46,751 33,920 12,831
J| 32,725
< 7,013
s 7,013
301 LEMZ 46,751 33,920 12,831
J| 32,725
< 7,013
[ia 7,013
01 MEI2ZE 05z 46,751 33,920 12,831
OAZEHIRH™AY 46,751,000 14 At 46,751
J| 32,725
< 7,013
s 7,013
B AZ=AH0ISHXA 5,100 0 5,100
J| 3,570
< 765
s 765
301 LEPEXF 5,100 0 5,100
J| 3,570
< 765
i 765
01 MEIBEE 263 5,100 0 5,100
OZMHAAZEHRSH AL
5,100,000 =14 At & 5,100
J| 3,570
< 765
s 765
H2d MENMSXAZX HI(ESKH) 118,566 116,928 1,638
J| 59,283
e 59,283
307 glz2+ol & 118,566 116,928 1,638
J| 59,283
s 59,283
02 QIZtE A AHEE 118,566 116,928 1,638
o024 MEXMSXEZX XA
118,566, 000& 14! 118,566
J| 59,283
[ia 59,283
UBLTMET S S X (2SX) 118,566 116,928 1,638
J| 59,283
e 59,283
307 glz2tol & 118,566 116,928 1,638
Jl 59,283




AN 23HSD
Mo MTH S
el HEE TS A CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o 59,283
02 It M AMHEE 118,566 116,928 1,638
OgerMetX XS A B XA
118,566, 000& 14 118,566
J| 59,283
i 59,283
ool MEH SIS B XI( ) 29,642 0 29,642
J| 14,821
s 14,821
307 glz2tol & 29,642 0 29,642
J| 14,821
s 14,821
02 It M AHE X 29,642 0 29,642
OZOHAMEMFXE X HHXIALS
29,642,000 » 14! 29,642
J| 14,821
e 14,821
M =3 X& 43,000 0 43,000
= 25,000
s 18,000
402 RI2EX=20l M 43,000 0 43,000
= 25,000
s 18,000
02 QIZEt 2 A B X (01 A 43,000 0 43,000
020223 HOtdt= MEBHSMUIA XHEXIH AL
e 43,000,000& =14 43,000
= 25,000
s 18,000
UM =3 XA 120,802 105,424 15,378
307 gl2tol & 120,802 105,424 15,378
02 IZtE M AHE X 8,000 6,000 2,000
OFeId=s BIESKA  200,000& +102 2,000
O MExN=sws 2L
6,000,000 » 14! 6,000
03 QI HE2IHEx 110,302 96,924 13,378
Oret=HOM=2 K& 110,302,000 14! 110,302
04 DIZHHALALSE E X 2,500 2,500 0
OretzZfelIx =4 XA 2,500,000& 13 2,500
UM =SS =& XA 8,000 8,000 0
307 glz2+ol & 8,000 8,000 0
02 It M AHE X 8,000 8,000 0
Od= & T ZMHAMSUHE SHXE A
o 8,000,000 =14l 8,000
dEHMNM=CHE &It 30,000 30,000 0




AN 23HSD
HH: HAFIAH
Eel: 2EE MM (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 30,000 30,000 0
04 DI2HHALALSE E X 30,000 30,000 0
Od=ZoHeIM=tHal &It 30,000,000 x13] 30,000
HEXMEHMFHE &It 6,000 6,000 0
307 eIzl & 6,000 6,000 0
04 QIZFHALAIH E = 6,000 6,000 0
OF=XMEMHAMEH &It
6,000,000& 13 6,000
HEBEH(AM)EHAMSUHS =Dt 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
04 DI2HHALAISE E X 10,000 10,000 0
OUSBEH(AM)EMHAMSUHSE &It
10,000, 000& 13| 10,000
dEs0eI M= &t 6,000 6,000 0
307 gl2tol & 6,000 6,000 0
04 DI2ZHHALALSE E X 6,000 6,000 0
O&=s0teld=stHal &It 6,000,000& x13] 6,000
EXNZEOS & AAEHAMSCHE &It 6,000 6,000 0
307 glz2tol & 6,000 6,000 0
04 QIZFHALAIH E = 6,000 6,000 0
OERXEOIS & AMLEMHAMSHE &It
6,000,000& x13l 6,000
Hesds SHEXJAY 12,000 12,000 0
301 LEM = 12,000 12,000 0
12 JIEBHE4 = 12,000 12,000 0
O&letz 26 XJAAY  1,200,000& 102 12,000
dE HMsESds dXEdH X2 20,000 0 20,000
308 XXM SO0 A 20,000 0 20,000
08 WEII20HStE = 20,000 0 20,000
020228 &2 Hsd+= dXEE XA
10,000, 000& *20H 2 13 20,000
S5 OLAIOHEHE & OtAHA OHE 73,000 0 73,000
308 A EHHSOIA 73,000 0 73,000
07 IXNHMAR S = 73,000 0 73,000
02023 8= OFAIOtEHE 2 OtAEHA CHal 29
=l 73,000,000& =14 73,000
AE2sZIR 24 542,890 538,050 4,840
< 36,000
s 506,890




fAM: 2=
Mo MTH S
©el: NESSPIY 29 (sl &2)
SA - BB B () - MM - BES Ol &t o San HmEET
dote NEA2sHIF 23 542,890 538,050 4,840
= 36,000
s 506,890
201 £B-2d| 38,310 36,970 1,340
01 At 22l 11,250 9,910 1,340
O%csgd 2223 7¢ 100,000& »12& 1,200
OZE=dd s Mzl =l 650,000& » 14! 650
OsSEXE DEEZ2 SdH= 50,000& x12& 600
OGS d=tt &4 AHEZE  3,500,0008 2 7,000
Og&tsdd F=J UdH 50,000& 123 600
Ogsdgd RelaH 9 100,000& =128 1,200
02 2324gHl 27,060 27,060 0
OATERUE ST RFHl 400,000 128 4,800
OdAc e SEMY SN
1,500, 000& 14 1,500
Odc=zgd dMIIRs 1,000,000 «12& 12,000
O =gd SHe= 100,000& =122 1,200
O&J|etd et =2 200,000& »12& 2,400
Oagotdaeids= 230,000& 1228 2,760
OsZJIRNEx =2  200,000&+12& 2,400
301 LPEAZ 498,680 498,680 0
< 36,000
e 462,680
Vo=t - 2sRSEH 498,680 498,680 0
Oz 01244 2 2FH|
498,680,000 » 14! 498,680
= 36,000
[ 462,680
405 RHoHE S HI 5,900 0 5,900
01 AL ESFHSH 5,900 0 5,900
o9&t g=4 & g =8 7Y 5,900
—HED 1,500, 000& = 1CH 1,500
— &l Xl 300,000 1CH 300
— &40 300, 000& »2CH 600
— NIE DI 1,400,000% =1 CH 1,400
—AdxD| 1,400, 0002 = 1CH 1,400
— 22U 100, 0002 = 1CH 100
— 014 et0t 21 100, 000& *2H 200
— ZOFALXI DI 400,000 = 1CH 400
ASHMSIIERE 4,694,133 5,238,321 A 544,188
s 390,000
J| 1,000,000
e 3,304,133




1

2AM: 2=
Mo A S
CHelr ASHAZIINTE c
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
SESSE 22 45,560 50,200 N4,640
201 Bt H | 45,560 50,200 N4,640
01 AP 22l Yl 4,560 4,200 360
Osd2sd 2228 7Y 100,000& = 12& 1,200
OZHESST s JMBEDY
150,000& = 12& 1,800
Osdz2sd Ro3H 249 100,000& *12& 1,200
O3&E2sd )| gz 30,000& x12& 360
02 33294l 41,000 46,000 A5,000
O34d2sd dIle=a
1,250,000& 201 A+ 122 30,000
Osdz2sd =222 170,000 *2 A x 122 4,080
Osd2sd M)t x==2 160,000& *12& 1,920
OANEZE w22l 1,250,000& 421 5,000
S M=z 2 2el 115,288 106, 130 9,158
201 2yt 2 Y| 115,288 106, 130 9,158
01 AFR2t2ldl 9,876 7,476 2,400
Otz 222 7+  150,000& *12& 1,800
ORHME3 2 st&A AMEE 2L
100,000& = 12& 1,200
O2WMEs32 )| gX&
41,0002 *3CHx12& 1,476
OSM=g & RoHH S 200,000& x12& 2,400
O=20d=s3 & H&E&EH gz
500,000& =63l 3,000
02 33294l 05,412 98,654 6,758
(OFSPIRIFS R Fol By 420,000 x12& 5,040
OagotdA W= 250,000& x12& 3,000
OAgotdE 3 Y| 48,000 *13] 48
OZHHeEE ot AN 180,000& x12& 2,160
ogd(As)=2 375,000& 43| 1,500
odIIe=2 6,500,000& x12& 78,000
(OE=N == 200,000& = 12& 2,400
OfKA4TV ANlEE 22,000& 128 264
OAlI& &H|l X4l 2,500,000& x4 21 10,000
Ozggd NI 3,000,000 3,000
HMEAE &5 1,842,657 813,207 1,029,450
101 @1 21| 260,292 85,581 174,711
04 JI2ZtHIZ22XNHEE 260,292 85,581 174,711
Omazs2=Zd Hx=&g S 22 2R 57,534
—-J23 75,8003 *3H x 168 38,204
— Sl 2,000& *3% 168 1,008
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4,000 *3H «1682
75,8002 «3H «4 8
81,8003 x3H «8L
300,000 3 * 12
51,367,200 «12%

0

75,8008 * 12 x50
2,0009! 1% *502
4,0008! 124 %502

ol el
75,8002 x2% * 1682
2,0008 *2% +168L
4,000 *22 *168L
75,8009 x22 x42! 582
81,8008 x2% +8!

300,000% »2 +13l

34,244,800 *12%
RRIESE=ED
83,960 x4 1262
2,000% *45 *1262
4,0008 *4% +1262
83,9608 x4 x4 +6

16,868 *4H *20A| 2t x6E

134,940 x4 3L «6 &
89,9603 x4H «6
300,000& x4 x12
74,571,360 «12%
200,000& »4H * 13

0e

75,8003 x 12 %247
2,000 x 18 «247
4,000 1H «247

75,8002 x1H x4 123
122, 7003 » 12 3L 128
81,800& x1H 12
300,000& » 1 %23
29,841,800 «12%
200,000& 1 %23
ASE)
83,9603 x2H » 126
2,000 2F «1262
4,000 x2H %1262

2,016
7,277
1,964
900
6,165
4,090
3,790
100
200
38,356
25,469
672
1,344
4,852
1,309
600
4,110
84,323
42,316
1,008
2,016
8,061
8,097
9,716
2,160
1,200
8,949
800
33,826
18,723
494
988
3,639
4,418
982
600
3,582
400
42,163
21,158
504
1,008

=

i
2




AN 23HSD

Hau: dRASAE

CHelr ASHAZIINTE (sl &2)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
-5 83,9603 x2H x4 x6F 4,031
—Az2telsg 16,8683 x2H *x20A| 2t 6 4,049
——52z2fE 134,940 x2H 3 x6 H 4,858
— X< 89,9603 »2H x6 L 1,080
— HE SOty 300,000& x2H x13] 600
—40 EE = 37,285,680& *12% 4,475
—-2f= 7Y 200,000& x2H *13] 400
201 LBt2E | 126,095 134,706 A8,611
01 At 22l 42,036 25,256 16,780
OZCASHE +YUA 222 L 2 g
500,000& x6H 3,000
ORVMSHE =@ 222 7
200,000& x9H +23| 3,600
OZZigy MY 222 2y
200,000& x6H *23| 2,400
OBTAEY B2 S|
8,000& x6H x9U x12& 5,184
O=2MSHH Z2A =l
8,000& x9F x9U 128 7,776
O3BAE=2 HHBH 224
1,750, 000& x2JH A %23| 7,000
OM=sANE 222 M 1,500& x1,000% 1,500
OXlEItE ZHUHY AMblA 2 (H2EZ2]
) 30,000& x12& 360
omaz=2&s® el +¢ 166,600& =128 2,000
omza==%d 3= gtz
30,0003 x2CH 123 720
OUSHIY H4) X2
40,0003 «1CH*123 480
O=2% 22235 ¢ 150,000& »12& 1,800
O=22% =) gz 40,0003 x2CH 123 960
O=2% RoFHEY 150,000& = 12& 1,800
OMSAE SSHI(BH)
8,000& *4H x9U x 123 3,456
02 22224l 84,059 109,450 A 25,391
OMSAE RXNE= 5,000,000& x6A 30,000
OMSAE SEUHZALE RXE=
500,000& 123 6,000
OQHYAIE2 (T2 0) 40,0008 x12€ 480
OKNH =48 & QUSEOAMHIA
433,200 124 5,199
O SHA(HRM)TZAE 22l
3,000,000& »23| 6,000
OEg3d M= SFHl 120,000 ~8& 960
OIS HELENZAIE FHb|

2,000,000& 23 4,000




AN 23HSD

Hau: dRASAE

& ASHHFIIERS (&)
SA - BB B () - MM - BES Ol &t o San HmEET
OotU=sdEE &MIIKs 800,000& »12& 9,600
OUsSHEIE &k 23 70,000& +12& 840
OUSHIE A HLLR
350,000& 1228 4,200
o=z dJIea 500,000& »12& 6,000
O=22% &=k 23 25,0003 «x12& 300
O2TE Ay BAUB S22
184,000& =128 2,208
omza=2=z A3 250,000& = 12& 3,000
Oma=&2% olsdlstdEd st =&
306,000& »12& 3,672
OmaA=sZF MY FIHI(0=I, &0
) 200,000& 83 1,600
202 o4dl 8,320 5,200 3,120
01 = LH o4 1l 8,320 5,200 3,120
OMESAE LRFE(EH)
130,000& x4H 123 6,240
OMSAE SML AL ATS
80,000& 26X 2,080
401 A& HIZ 201 Y] 1,260,750 190,320 1,070,430
01 A& HI 1,260,750 190,320 1,070,430
O2Y S UsHEIE JisiHd 30,000
— QA EHOAANL (SHEA, BAZ &X)
1,000,000& *30m’ 30,000
O Z& LeDItz2S WAl 600,000& 20 12,000
OZ4L42sd 24 4 300,000& x120m’ 36,000
Osg HEIEd 2XEH 20,000& «1,000m’ 20,000
Oobtg s sAs2 X
500,000& =40 m* 20,000
OFd M= &=z FHHl 120,000 »600m 72,000
Od=z 0% e s &1
3,000,000 «6IH & 18,000
O -9 MSAE RAE=>
2,000,000 * 110 & 22,000
O&et HOIE=2E WR S22 WA
30,000,000& *1JH £ 30,000
O8 -9 JHOESFE HIIEAE £X
3,000,000 «34 & 9,000
OfF HOESZE LEOXE WH
15,000, 000& 14! 15,000
O&ot EH2s HOIEEE HH=2&Hl & =S¢&
cl &X 20,000,000 » 14l 20,000
ontg &= HolE=2E FH4A &5
400,000& 50 m’ 20,000
O0tg 9& AHOIE=SE ALFEHI S A
5,000,000& =14l 5,000




SH: 2o
My HESAH

(hld

ECRCEE S ESITEE (el:de)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
O0td 8&= HNOEEHE =2 H| 2 Al
20,000,000 =14 20,000
OUZE ZHMNY ANSHAABTA 2
250 *367,000m* 91,750
Odzx0t32& JIS4 &X 20,000,000 x1JH 2~ 20,000
OEEMEZ2Y =2 IA2XH 41X
800,000,000 1Al 800,000
405 XH&HF S HI 187,200 397,400 N 210,200
01 JHAHE 2 Z 5 S H 187,200 397,400 N 210,200
oot o221+ &X 3,600,000& «52CH 187,200
20MIHH & 296,908 536, 184 N 239,276
201 Bt A H| 256,608 245,308 11,300
01 At 22l b 29,640 30,600 A 960
OZ20IHEsHdH 2225 FU(AZE)
400,000 x12& 4,800
OFAEE ¢ 300,000& ~12& 3,600
O3JI8&EH +¢ 150,000& ~12& 1,800
OXEINE ZHUHBMEIA =5
350,000 x12& 4,200
odldl gz 30,000& «10CH x12& 3,600
O8I dxz 40,000 *9CH x12& 4,320
OE8I| 4 400,000 x12& 4,800
oulgxs= 40,000& ~12& 480
ORBHIEY =2 170,000& *12& 2,040
02 352494l 226,968 214,708 12,260
OA&E &Yl |Xdl 49,000,000 1A 49,000
odIle=2 10,000,000& «12& 120,000
O3 1,500,000& ~12& 18,000
OSANRS (M3t & olgd) 5,568
—dE3HE MEZ 165,000& =128 1,980
— N33 10,000 x12& 120
—QolHY AtEZ 17,000& x 1701~ 12& 3,468
OIS = 530,000& x12& 6,360
OAgtordzZe| =2 270,000& 128 3,240
OAgotME 3| 48,000 *13] 48
oY (AE) =2 500,000& *33| 1,500
Oxg& HA 3,000,000& x23] 6,000
OMdz==xX HA 1,000, 000& *23] 2,000
OXGHE &I 26 LA 3,000, 000& =2LH 6,000
O20HEsMdyH 29Z20d 2 BAHSAE
> 433,000 x12& 5,196
O=20UMRHEH HOUHEE ESANAE RAES
338,000& 128 4,056




D ASNASISRE

D 2SHSE N

AU

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
206 M = Hl 4,800 7,200 A 2,400
01 & bl 4,800 7,200 A 2,400
O+2® +H2AE U yoiis
400,000& *12& 4,800
405 XH&HF SHI 35,500 101,800 A 66,300
01 A&t = S F SHI 35,500 101,800 A 66,300
oNe=2sg =3 NEA
3,500,000& =3CH 10,500
OgAlR ¢ 5,000,000& =x5CH 25,000
SZTHGSE 2 93,720 132,600 A 38,880
201 et A b 84,720 86,560 A 1,840
01 AFR 2t 2l Yl 41,440 40,390 1,050
OLHSHE 2282 2,500,000& 424 10,000
OFA ABERY 200,000& «12& 2,400
ORI AR2EFL 240,000& =38 A 720
Oo==Z=2 uA 5002 x16, 0004 8,000
O2Z 2 HIIZ2 Heldl 500, 000& =23 1,000
O3 IHss2&X SANES
200,000& x12& 2,400
Ofte ¥ Elg)| 2#FSEX FAES
200,000& = 12& 2,400
OATE 3T RINAl SEE 2,000,000& *63| 12,000
OoRoAHE24H 100,000& = 12& 1,200
O8I &tz 55,000 *2CH x12& 1,320
02 352494l 43,280 46,170 A 2,890
OA & &Hl 8 XYl 2,500,000& x4 3] 10,000
ONIIe=2 2,100,000& x12& 25,200
Oadte=22 300,000& x12& 3,600
Osdeza 60,000& x12& 720
ogd(As) =2 500,000& *23| 1,000
Oadiotdae| i3 230,000& x12& 2,760
405 XtabF SHI 9,000 4,600 4,400
01 AL 2B F SHI 9,000 4,600 4,400
O=ZdHSE A28 7Y 300,000& =304 9,000
SHUEBALRL 1,300,000 2,100,000 800,000
= 390,000
= 910,000
401 Al HIL 201 1,300,000 2,100,000 A 800,000
Fay 390,000
= 910,000
01 A& HI 1,300,000 2,100,000 800,000




2N 2SI
HE: HEHSAE

& ASHHFIIERS

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OS2 M=z 2 SAFS
300,000€ *3,000n 900,000
Fag 270,000
= 630,000
OM4HBZR QIZIAHOER X4
80,000& *5,000m 400,000
Fag 120,000
= 280,000
or BHOHH] MSHE HE 1,000,000 0 1,000,000
J| 1,000,000
401 Al HIZL 201 Y| 1,000,000 0 1,000,000
Jl 1,000,000
01 Al&H| 1,000,000 0 1,000,000
O&Ior BECHH| A8 AN 29
8,160,000, 000& x4 . 5%*48 . 47494% 178,000
J| 178,000
OXIoF Bl MEHEH 2HE
3,400,000 *2,400m % 10.07352% 822,000
J| 822,000
ENPAEE] 1,166,672 1,166,672 0
Jl 30,000
c 222,000
= 914,672
=Ml =& A 1,166,672 1,166,672 0
J| 30,000
o=t 222,000
= 914,672
= Ml & A 316,672 316,672 0
o=t 52,000
= 264,672
201 et 9| 146,992 146,992 0
01 AP 2t 2| H| 133,992 133,992 0
O=EMH&d /s BLaXE 2,000,000& x53| 10,000
o= 1,100,000 x24 4 26,400
OFH=ER 60,000,000 = 14! 60,000
ON=2=sHzER ¢ ZJF 20,000,000 x13] 20,000
O=H SNS(HOlAE, 2210, IIINLAER S
2o2el 2 o =) 15,000,000 » 1Al 15,000
O=H AL S|
8,000 x3H x92 x12& 2,592
02 2224 3,000 3,000 0]
O=H =ZHOolX =) 3,000,000& =14l 3,000
03 A2 G HI 10,000 10,000 0
Oflotna Z& 10,000,000 « 1Al 10,000
202 044 12,680 12,680 0




2N

X ZH
S =

el

Z M = ot
CEMXE
SOl = A

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 = LH 4 bl 12,680 12,680 0
OsH &2 & #x ot 8,000,000& 14 8,000
OSH LRFA(5H) 130,000& 3 128 4,680
203 YR =&l 5,000 5,000 0
03 AIMZ=XH R =AH| 5,000 5,000 0
OFH HRFX(5Y) 5,000,000& 5,000
307 glz2+ol & 152,000 152,000 0
< 52,000
s 100,000
04 QIZFHALAIH B = 152,000 152,000 0
Os=&F4&=3 MdlOlE 40,000,000& *12] 40,000
< 40,000
OFUDA SHN D24 =X
62,000,000& =13l 62,000
= 12,000
s 50,000
O&etn@d =8=x 50,000,000& x13] 50,000
JotE & =R 850,000 850,000 0
J| 30,000
= 170,000
e 650,000
307 glz2+ol & 850,000 850,000 0
J| 30,000
< 170,000
s 650,000
04 QIZFHALAIH E = 850,000 850,000 0
OXGHEAZH(HEZZ X 1002 2H)
850,000,000& =13l 850,000
J| 30,000
< 170,000
e 650,000
HH2LZH (2SS ) 521,771 190,219 331,552
A AHI(23MS ) 521,771 190,219 331,552
eI (2 M=) 470,163 135,411 334,752
101 @124l 470,163 135,411 334,752
01 2= 123,545 84,761 38,784
OAtZex% 121,839
— 6= 12,1243 x5F «50A| 2t 128 36,372
— A 11,6863 x1H «50A| 2t 128 7,012
—-7=2 10,9523 x6H +50A| 2t 128 39,428
— 8= 9,832& x3H «50Al 2tx 12 17,698
- 9= 8,887 4P «50Al 2t 123 21,329
OX™ <M &I 121,839,000& *1.4% 1,706




SN 2AHSD
M HY2IAZH (2SS
¢ A2HH (2 M S ) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
02 DIt 2 == 115,185 40,509 74,676
OAZAZRSFEOI2E2) 18,040
— YA H(8=) 9,832 *1H+50A| 2F+12& 5,900
-3 10,0833 = 1H «52 A1 2t 12& 6,292
—=3& 9,371 &« 1H+52A| 2t+ 1228 5,848
OAZAZRSE(IAas ) 19,634
— YA DIH(8=) 9,832 *1H+50A| 2F+12& 5,900
— &< 11,9253 « 1H «52A| 2t « 128 7,442
-3 10,0833 x 1H +52A| 2t+ 128 6,292
OAN2HZR2Z (20U M3 2) 17,902
— A 11,0923 »1H +50A| 2t+ 128 6,656
—=& 9,371 3«2 «50Al 2t+ 128 11,246
OFdZeg(20Ms3 &) 15,829
— A 89,1603 x 1 66 5,885
—-=3 75,3263 x2H x66 9,944
OXRAZE S (2UHMSI )
8,000 «3H 52 «12& 1,440
OANZ 2R (I UHSHH) 5,623
—&=3 9,371 «1H«50Al 2t 123 5,623
Osgae==(FUMs4H) 3,390
—&=Z 75,3263 x 18 45 3,390
OXRAZE S (IFUMSHH)
8,000& x1H x5 128 480
OANA2ZR+Z(BEASE) 15,069
—=Z 9,371 & =267 Al 2tx 128 15,069
ORY224Y(ZTALE) 9,944
—=3& 75,3263 x2H 66 9,944
oo (2EASE) 4,474
—=3& 3, 1243 «2H x4 A 2E+ 170 4,474
OHMSAE FJIE 25 72
200,000& x6H +23| 2,400
OFHJAZE SHH(BZASEH)
8,000 x2H 52 «12& 960
03 22X (2I|HF)22XE% 231,433 10, 141 221,292
OAZQ2R22 (eI S2)
19,0673 x2H »9Al 2t 12E 4,119
OANZHL2R2S (LA S 2)
18,198 x15A| 2+ + 123 3,276
OAIZtel 2242 (820) 85,547
—-55= 17,8683 x 1H #24 Al 2t 128 5,146
—63= 18,033 x 1H 24 Al 2t 128 5,194
733 18, 1983 x2H #24 Al 2t %128 10,483
—-85= 18,3643 x5 24 A| 2t 12& 26,445
—10== 18,6943 x3H »24 A| 2% 12& 16,152




2A: 2SH=
HM: Y2 AH| (RSAESD)
S olESAY| (2A=ED) (&2 &)
SH-HH . B(SH) - HBAMY - B2 ofl &k o San HDE2
—11s= 18,8803 x2H 24 A| 2t %128 10,875
— 128 19,0673 x1H *24 Al 2tx 12 5,492
—173= 20,000 »1H x24 Al 2tx 128 5,760
Osg 2244 (8L0) 106,937
—hs 2 142 ,950& » 1 x45L 6,433
— 65 = 144, 2713 »1H »45 6,493
—7s2 145 5913 2 x45 13,104
— 83 =2 146,912& x5 45 33,056
— 1088 149,553& *3H 45 20,190
—11s= 151,046& x2H 45! 13,595
— 125 = 152,538& 1 45 6,865
— 173 160,003 12 x452! 7,201
OFYN2L+ L (IUHSNE)
28,8803 *3H x4 A| 2t %52 18,022
O 2244 (25 E) 13,532
— Y A2 R 6,231& x6H *2 Al 2F*84 6,281
-5 02272 25,1743 6 H 2 A| 2t %24 7,251
JlgZdl (2 d=s) 51,608 54,808 A 3,200
201 Bt A H| 39,908 45,208 A5,300
01 At 22l b 39,908 45,208 A5,300
Os8AHYD| =28 2EF S 300,000 14! 300
OZZ2LHUIS Y$HEE ¢
50,000& 16000 A * 13| 8,000
Oxs ¥ F&E4H 70,000& 12 43| 3,360
OARI1D| 29HI(BY)
220,000& x50 &l x12& 13,200
OrERS2(5Y) 200,000& 128 2,400
OJIEt2dd| (&) 6,600,000 6,600
O (&) 8,000 x7H +x9 x12& 6,048
202 04| 5,700 5,400 300
01 2L Y| 5,700 5,400 300
O2HE 2= (ENH)
300,000& x1H x12& 3,600
OHZTAIEH(ENH) 2,100,000 2,100
203 YR =&Y 6,000 4,200 1,800
04 ENSHLRE=XH| 6,000 4,200 1,800
OBANSYIL2=XH(EBY) 500,000& x12& 6,000




